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You will need: 100 square, red pencil, blue pencil
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Here is a pattern from the numbers in the red column:-
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Copy the pattern and
findeh 3.4,

Do the same for the
numbers in the blue

column.
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Make another number pattern, like these, using any other column,
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You will need: 100 square, red pencil blue pencil
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100 sguare patterns

(1) Take a 100 square.

(2) Shade these numbers red

(3) Shade these numbers blue

(4) Here is a pattern from the red numbers:
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Copy the pattern and

finish it.

Space your numbers carefully.

(5) Do the same for the

blue numbers.
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(6) Make another number pattern using any other line like these.
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You will need: 100 square,red pencil. blue pencil.,

More 100 = sguare patterns
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(4) Here is a number pattern using the red numbers.,
35— 3 = 3 e—> > =
1 wes» 1+ L = D 5 =
23
36
Y7 —>> 4 + 7 = 11 =» 1 + 1
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Copy the pattern and complete it. (Look carefully at the spacing)

\n

\n

]
Mo

(5) Do the same for the blue numbers

11 =2 1 + 1 = 2 =—> 2 = 2
2= 2+t 2 = by b = 4

55 == 5 + 5 =10 —=> 1 + 0 = 1

(6) Make another pattern like these.
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You will need a hundred square and colours.

1. Take a 100-square,

colour in every 9th square.
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2. Write down the numbers:
9
18
27

3. Complete this patternf

0+9= 9
10 +8 =18
20 +7 =27

.
.

4. Finish this pattern of 9's
10—1 =9
20—2 =N
30—3 =18

.
Ll

5. Here is a way to check your 9 times
table. You have to add the tens to
the units!

So 9gives 9
So 18 gives 1 +
+

9
8=N
So 27 gives 2 +7 =M

‘Complete the pattern.



Number
words

Start witha
number.
How many letters
are there?
Write down v
the number. THREE
How many letters ¥
are there? f
...andsoon... FIVE
v
4
A 4
FOUR
Start chains with 4
different numbers.
What do you notice?

Try making chains in
other languages.
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STACKING

Three boxes have to be
stacked against a wall.

Each box has to have one face next to the wall, and
another whole face touching one of the other boxes.

This is one possibie way.

For three boxes there are four possible ways.
Can you find them all?
Draw your results.

How many possible ways can four boxes be stacked?
Investigate for other numbers of boxes.

© RBKC SMILE 1994,
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